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2. 5(x² + 4x + 4) – 4( x² – 6x + 9 ) = 2x( x + 15 ) + 29;    
5x² + 20x + 20  − 4x² + 24x − 36  = 2x² + 30x + 29;
x² + 44x − 16  = 2x² + 30x + 29; x² – 14x + 45 = 0
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3.1 S( 5 | − 4,5 )  ;  W = [− 4,5 ; ∞ [ 2
3.2 g: y = mx ;  P ∩ g : 0,5 x2 − 5x + 8 = mx; 0,5 x2 − ( m + 5 )x + 8 = 0;  

D = ( m + 5 )² − 16 = 0; ( m + 5 )² = 16;  m + 5 = ± 4; m = −5 ± 4;    
m1 = −1; m2 = −9 ;  g : y  =  − x ;  h : y  =  − 9x
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3.3 P ∩ g : 0,5 x2 − 4x + 8 = 0; x2 − 8x + 16 = 0; ( x − 4 )² = 0;  x = 4;
g(4) = −4; B(4|−4) 

3

4.
2 2BC 1 1 cm 2 cm= + =

2 2AB 2 2 cm 8 cm= + =

R
2 2A 2 cm 8 cm 16 cm 4cm= ⋅ = =
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Bewertung:

Punkte 30 − 26 25 − 22 21 − 17 16 − 13 12 − 7 6 − 0
Note 1 2 3 4 5 6


